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PROBLEMS 5
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Find the sum of 2000, 200 and 20.
How many days are there in the first three months of the year — f itis a leap
year?

In one case of apples there are 209, in a second 221 and in a third 199. How
‘many apples altogether ?

What is the difference between seven hundred and one, and four hundred and
eleven ?

Ina crate of one thousand apples, ninety two are bad. How many good apples
are there ?

In a school with 830 pupils, there are 75 absent. How many are present ?
‘Three hundred and twenty one passengers board a train at London, and one
hundred and eighty seven get off at Birmingham. How many people are stillon
the train ?

How many pencils are there in ten boxes — if each box holds two dozen
pencils 7

A newspaper has 20 sheets. How many sheets in 13 papers ?

A book had 17 chapters and there were 28 pages to each chapter. How many
pages in the book ?

A milkman can deliver 120 botties of milk in an hour. How many bottles can he
deliver in & hours ?

‘There are 242 words on the page of a book and 11 words on each line. How
many lines were there ?

11317 children are divided into 5 equal groups — how many will there be in
‘each group, and how many left ?

There are 576 eggs in four identical boxes. How many eggs are in each box ?





